
  

APRIL 2020 60557/CYA6A 

Time : 1 2
1  hours Maximum : 75 marks 

PART A — (5 × 3 = 15 marks) 

Answer any FIVE questions. 

1. What is cost sheet? 

 AhUPÂø»¨ £mi¯À GßÓõÀ GßÚ? 

2. What are the elements of cost? 

 AhUPzvß TÖPÒ ¯õøÁ? 

3. What do you mean by Economic Ordering Quantity? 

 ]UPÚ Bøn AÍÄ £ØÔ E©x P¸zx ¯õx? 

4. What is stores ledger? 

 Qh[S¨ ÷£÷μk GßÓõÀ GßÚ? 

5. What is Idle Time? 

 £¯ÚØÓ ÷|μ® GßÓõÀ GßÚ? 

6. Standard time allowed for a job is 50 hours. The hourly rate of 
wage is Rs. 20 per hour. The actual time taken by the worker 
was 40 hours. Calculate total wages on piece basis and Rowan 
plan.  

 J¸ ÷Áø»US AÝ©vzu {μ¢uμ ÷|μ® 50 ©oPÒ. J¸ ©o ÷|μ 

T¼ ÂQu® ¹. 20. öuõÈ»õÍº Esø©°À GkzxUöPõsh ÷|μ®  

40 ©oPÒ. EØ£zv ©ØÖ® ÷μõÁõß vmh® BQ¯ÁØÔß RÌ ö©õzu 

T¼PÒ PnUQhÄ®.  

7. What do you mean by under absorption of overhead? 

 ÷©Øö\»Âß SøÓ Dº¨¦ £ØÔ E©x P¸zx ¯õx? 

8. What is allocation of overhead? 

 ÷©Øö\»Âß £QºÄ GßÓõÀ GßÚ? 
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9. Ascertain machine hour rate from the following expenses of a 
machine. Cost of machine Rs. 10,00,000 life of machine is five 
years. Repairs and maintenance Rs. 1,50,000, operators wages 
Rs. 2,00,000, insurance Rs. 40,000 rent of the factors Rs. 10,000, 
machine hours 1,00,000.  

 J¸ C¯¢vμ® SÔzu ¤ßÁ¸® ö\»ÄPÒ öPõsk C¯¢vμ ©o ÷|μ 

ÂQu® PnUQhÄ®. C¯¢vμzvß AhUP® ¹. 10,00,000. 

C¯¢vμzvß B²mPõ»® I¢x BskPÒ. £Êx£õº¨¦ ©ØÖ® 

£μõ©›¨¦ ¹. 1,50,000. C¯US|ºPÒ T¼PÒ ¹. 2,00,000 Põ¨¥kPÒ  

¹. 40,000 £Û©øÚ ÁõhøP ¹. 10,000. C¯¢vμ ÷|μ® 1,00,000 

©oPÒ.  

10. What is normal loss? 

 \õuõμn |mh® GßÓõÀ GßÚ? 

11. What is unit costing? 

 A»S AhUPÂ¯À GßÓõÀ GßÚ? 

12. 50 units are introduced into a process at a cost of Rs. 500. The 
total additional expenditure incurred by the process is Rs. 320. 
Of the units introduced 10% are normally spoiled in the course of 
manufacture. They possess scrap value of Rs. 2 each. Calculate 
the abnormal loss and its value, considering the output as  
40 units.  

 J¸ ö\´•øÓUS 50 A»SPÒ ¹. 500 AhUPzvÀ AÎUP¨£mhÚ. 

ö©õzu TkuÀ ö\»ÂÚ[PÒ Caö\´•øÓUS BÚx ¹. 320 AÎzu 

A»SPÎÀ 10% EØ£zv¨ £o°À \õuõμn©õP ÷\u©øh¢uÚ. 

CøÁ°ß GÔ©v¨¦ Kº A»QØS ¹. 2. EØ£zv öÁÎ±k 40 

A»SPÒ GÚU P¸zvÀ öPõsk A\õuõμn |mh® ©ØÖ® Auß 

©v¨¤øÚ PnUQhÄ®.  

PART B — (3 × 10 = 30 marks) 

Answer any THREE questions. 

13. From the following details prepare a cost sheet.  
 Rs. 

Direct materials  9,00,000 

Direct wages 7,50,000 

Profit 6,09,000 

Selling overhead 5,25,000 

Office overhead 4,20,000 

Factory overhead 4,50,000 
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 ¤ßÁ¸® Â£μ[PÒ öPõsk J¸ AhUPÂø»¨£mi¯À u¯õ›UP.  

 ¹. 

÷|μi¨ ö£õ¸mPÒ 9,00,000 

÷|μiU T¼PÒ 7,50,000 

C»õ£® 6,09,000 

ÂØ£øÚ ÷©Øö\»Ä 5,25,000 

A¾Á»P ÷©Øö\»Ä 4,20,000 

öuõÈØ\õø» ÷©Øö\»Ä 4,50,000 

14. Find Economic order quanting and frequency of placing orders.  

 Monthly usage - 150 units buying cost Rs. 200 per order 

 Cost per unit - Rs. 32 storage cost 25% per annum.  

 ]UPÚ Bøn AÍÄ ©ØÖ® Bøn°kÁuß Põ» CøhöÁÎ 

PõsP. ©õuõ¢vμ £¯ß£õk & 150 A»SPÒ, öPõÒ•uÀ ö\»Ä Kº 

BønUS ¹. 200 Kº A»Qß AhUP® & ¹. 32. Qh[S AhUP® 25% 

Kº BsiØS.  

15. Calculate earnings of 3 workers A, B and C under the Merrick’s 
plan of piece rate system from details given below.  

 Standard productions 120 units, ordinary piece rate Rs. 100. 

 Production A - 90 units, B - 100 units, C - 130 units.  

 R÷Ç öPõkUP¨£mh Â£μ[PøÍ öPõsk ö©›UQß EØ£zv ÂQu 

vmh •øÓ°ß RÌ H.¤. ©ØÖ® C BQ¯ öuõÈ»õÍºPÎß Á¸©õÚ® 

PnUQkP. {ºn°zu EØ£zv 120 A»SPÒ. \õuõμn EØ£zv 

ÂQu® A»QØS ¹. 100. EØ£zv H & 90 A»SPÒ, ¤ & 100 A»SPÒ, 

] & 130 A»SPÒ.  

16. Work out the machine hour rate from the following machine 
expenses.  

 (a) Cost of machine Rs. 3,60,000 

 (b) Freight and instalation Rs. 40,000 

 (c) Working life 20 years, scrap-Nil 

 (d) Working hours : 8000 per year 
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 (e) Repair charges : 50% of depreciation  

 (f) Power : 10 units per hour @ Rs. 10 per unit 

 (g) Lubricating oil @ Rs. 20 per day of 8 hours 

 (h) Consumable stores @ Rs. 100 per day of 8 hours 

 (i) Wages of operator @ Rs. 40 per day.  

 ¤ßÁ¸® C¯¢vμa ö\»ÄPÎÀ C¸¢x C¯¢vμ ©o ÷|μ ÂQu® 

PnUQkP.  

 (A) C¯¢vμzvß AhUP® ¹. 3,60,000 

 (B) ÁsiÁõhøP ©ØÖ® ö£õ¸zxa ö\»ÄPÒ ¹. 40,000 

 (C) £o ö\´²® B²mPõ»® & 20 BskPÒ GÔ©v¨¦ HxªÀø» 

 (D) £o ÷|μ® : 8000 ©oPÒ J¸ BskUS  

 (E) £Êx£õº¨¦ Pmhn[PÒ : ÷u´©õÚzvÀ 50% 

 (F) \Uv : J¸ ©o ÷|μzvØS 10 A»SPÒ Kº A»S ¹. 10  

 (G) E¯Âk Gsøn :  8 ©o÷|μ J¸ |õÎØS ¹. 20 

 (H) Qh[S ö£õ¸ÒPÒ : 8 ©o ÷|μ J¸ |õÎØS ¹. 100. 

 (I) C¯US£Áº T¼ Kº |õÎØS ¹. 40.  

17. PT corporation runs the following fleet of buses within Chennai 
city. 

 50 buses capacity 50 passengers 

 80 buses capacity 40 passengers 

 On average each bus makes 8 trips a day covering a distance of 
10 km in each trip and the average seat occupancy is 80%. On 
average 10% of the buses are kept away roads for maintenance. 
Calculate effective passenger kms for April 2015.  

 ¤.i. Põ¨÷μ\ß ö\ßøÚ |P›À ¤ßÁ¸® ÷£¸¢x öuõSvø¯ 

C¯USQÓx.  

 50 ÷£¸¢xPÒ öPõÒÍÍÄ 50 £¯oPÒ 

 80 ÷£¸¢xPÒ öPõÒÍÍÄ 40 £¯oPÒ.  

 \μõ\›¯õP JÆöÁõ¸ ÷£¸¢x® |õÒ JßÔØS 8 •øÓ |Pøμ _ØÔ 

Á¸ÁuØUS 10 Q« Ãu® ö\ÀQÓx. AvÀ \μõ\›¯õP 80% £¯oPÒ  

C¸UøP {øÓQßÓx. ö©õzu ÷£¸¢vÀ \μõ\›¯õP 10% ÷£¸¢x 

£μõ©›¨¦ £oUPõP {Özu¨£mkÒÍx. H¨μÀ 2015UPõÚ EßÚu 

£¯oPÒ R.« ö\»øÁ PnUQkP.  

18. Bring out the main methods of time keeping.  

 ÷|μU Põ¨¤ß •UQ¯ •øÓPøÍ öÁÎUöPõnºP.  

19. What are the objectives of cost accounting? 

 AhUPÂø» PnUS¨ £vÂ¯¼ß ÷|õUP[PÒ ¯õøÁ? 
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PART C — (2 × 15 = 30 marks) 

Answer any TWO questions. 

20. A manufacturing company discloses the following details for six 
months ended 31st December 2015.  

 Rs. 

Materials used  1,50,000 

Direct wages 1,20,000 

Factory overhead 24,000 

Office and general expenses 17,640 

 Prepare a cost sheet of the company and calculate the price 
which the company should quote for the manufacture of machine 
requiring materials valued at Rs. 1,250 and direct wages Rs. 750 
so that the price may yield a profit of 20% on selling price.  

 31 i\®£º 2015À •iÁøh²® BÖ ©õu Põ» Â£μ[PøÍ J¸ 

EØ£zv {Ö©® öÁÎ¨£kzv¯x ¤ßÁ¸©õÖ.  

 ¹. 

£¯ß£kzv¯ ö£õ¸mPÒ 1,50,000 

÷|μi T¼PÒ 1,20,000 

£o©øn ÷©Øö\»Ä 24,000 

A¾Á»P ©ØÖ® ö£õxa ö\»ÄPÒ 17,640 

 J¸ C¢{Ö©zvß AhUPÂø»¨ £mi¯À u¯õ›UP ÷©¾® 

ö£õ¸mPÎß ©v¨¦ ¹.1,250 ©ØÖ® ÷|μi T¼PÒ ¹. 750 

÷uøÁ¨£k® J¸ C¯¢vμ EØ£zvUS Auß ÂØ£øÚ Âø»°À 20% 

C»õ£® Dmk® ÁøP°À Âø»¨¦ÒÎ°øÚ PnUQhÄ®.  

21. ST Ltd gives you the following to prepare stores ledger under 
weighted average method.  

2015 
March 

 

1 Purchased 300 units at Rs. 3 per unit 
5 Purchased 500 units at Rs. 4 per unit 

10 Issued 500 units  
12 Purchased 700 units at Rs. 4.50 per unit 
15 Issued 700 units  
20 Purchased 300 units at Rs. 5 per unit 
30 Issued 150 units 
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 £Ð HØÔ¯ \μõ\› •øÓ°À Qh[S¨ ÷£÷μk u¯õ›UP. Gìi. ¼m 

u[PÒ Á\® AÎzuøÁ ¤ßÁ¸©õÖ.  

2015 
©õºa 

 

1 öPõÒ•uÀ 300 A»SPÒ u»õ ¹. 3 Ãu® 

5 öPõÒ•uÀ 500 A»SPÒ u»õ ¹. 4 Ãu® 

10 AÎzuøÁ 500 A»SPÒ  

12 öPõÒ•uÀ 700 A»SPÒ u»õ ¹. 4.50 Ãu®

15 AÎzuøÁ 700 A»SPÒ 

20 öPõÒ•uÀ 300 A»SPÒ u»õ ¹. 5 Ãu® 

30 AÎzuøÁ 150 A»SPÒ  

22. Explain the causes of labour turnover.  

 öuõÈ»õÍº _ÇØ]UPõÚ Põμn[PøÍ ÂÍUSP. 

23. From the following prepare overhead secondary distribution 
summary under repeated distribution method.  

Details Production Departments Service Departments 

 J K L M N 

Total overhead as per      

primary distribution 16,000 13,000 14,000 4,000 6,000 

Ratio for apportionment of :      

  Service Dept : M 20% 25% 35% - 20% 

  Service Dept : N 25% 25% 40% 10% - 

 ¤ßÁ¸ÁÚ öPõsk «sk® «sk® AÎUS® •øÓ°À 

÷©Øö\»ÄPÎß Cμshõ® {ø» £Qº©õÚ AÔUøP°øÚ u¯õ›UP.  

Â£μ[PÒ EØ£zv xøÓPÒ ÷\øÁz xøÓPÒ 

 ÷á ÷P GÀ G® Gß 

•ußø© £QºÄ Ai¨£øh°À      

ö©õzu ÷©Øö\»ÄPÒ ¹. 16,000 13,000 14,000 4,000 6,000 

÷\øÁz xøÓ°ß £QºÄ ÂQu®:      

 G® 20% 25% 35% - 20% 

 Gß 25% 25% 40% 10% - 
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24. From the following information show the total cost and cost per 
unit of process D and process E.  

Particular Process D (Rs.) Process E (Rs.) 

Direct materials 40,000 60,000 

Direct wages 60,000 40,000 

Output in units 5,000 6,000 

Opening stock  
(units from previous process) 

- 2,000 

Closing stock  
(units from previous process) 

- 800 

 ¤ßÁ¸® uPÁÀPÒ öPõsk ö\´•øÓ ‘i’ ©ØÖ® ö\´•øÓ ‘C’ 
BQ¯ÁØÔÀ ö©õzu AhUP® ©ØÖ® Kº A»Qß AhUP® PõmkP.  

Â£μ[PÒ ö\´•øÓ i (¹.) ö\´•øÓ C (¹.) 

÷|μi¨ ö£õ¸mPÒ 40,000 60,000 

÷|μiU T¼PÒ 60,000 40,000 

öÁÎ±k A»SPÎÀ 5,000 6,000 

öuõhUPa \μUS  

(•¢øu¯ ö\´•øÓ°À C¸¢x Á¢u A»SPÒ)

- 2,000 

CÖva \μUS  

(•¢øu¯ ö\´•øÓ°À C¸¢x Á¢u A»SPÒ)

- 800 

————————— 


